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= 00000 Aoa 14.7 MPa 17.3 MPa 15.3 30.3
ml 000000 Dgy 300 cm 240(0 O :440) 440
- 00 Sao 121.7 kn? 103.0 kn? 72.7 71.2
= 0000000 Mg 1.14 x 10" N-m | 9.64 x 10'® 5.26 x 10® | 9.90 x 10'®
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0oo0ooon 2 km 2 km
oooooo 15km0O 0 - 18km 15km0O 0O - 20km
ooooo Joooooooooooo 200 ooooooooeno
0oo0ooon oo0oo(@ono)
0000000 My 3.97 x 10 N-m 1.26 x 10 N-m
ooooooo M7.60 Mw 7.0 M7.20 Mw6.7
000000 D= My/(S) 170 cm 90 cm
000 p=pp? 3.12 x 100 N/m? *! oo
sOooo vy(ooa p) 3.4 km/s*? oo
00000000 Vv, =0.72V, 2.4 km/s*3 oo
0000000 Ac = (7/16)Mo(x/S)*/? 3.8 MPa 3.0 MPa
0ooOooo A 1.81 x 10" N-m/g’ 1.23 x 10 N-m/¢’
o 00 S, 254.5 knt 169.0 knt 88.2 knt 103.0 knt
e 0000000 My, 2.70 x 10 N-m | 1.79 x 10" || 4.96 x 10'® 5.78 x 108
= g 00000 Ao, 13.8 MPa 20.9 MPa 16.1 MPa 13.6 MPa
oo ooooodd D, 340 cm 180 cm
- 00 Su 169.7 kn? 112.6 kn? 58.8 kn? 68.6 kit
= 0000000 My 2.01 x 10 N-m | 1.32 x 10" | 3.67 x 10'® 4.27 x 1018
oo 00000 Aoa 13.8 MPa 20.9 MPa 16.1 MPa 13.6 MPa
oo 000000 Dgy 380 cm 200 cm
- 00 Sao 84.8 kn? 56.3 kn? 29.4 kn? 34.3 kit
= 0000000 Mg 7.15 x 10" N-m | 4.68 x 10" || 1.28 x 10'8 1.51 x 108
= 00000 Aoy 13.8 MPa 20.9 MPa 16.1 MPa 13.6 MPa
oo 000000 D 270 cm 140 cm
0000000 My 1.27 x 10" N-m | 2.18 x 10! | 7.66 x 10'® 6.83 x 10'8
O 00 Sy,=8-5, 513.7 km 599.0 km 379.8 kn? 365.0 kn?
EI OO0O0Odd Dy 80 cm 120 cm 60 cm 60 cm
O 0000 o, = 0.2A0, 2.4 MPa 4.2 MPa 2.8 MPa 2.7 MPa

0MA0ODOUOODOO0OOOOO0OOCOUOO0OO0OUDOO0ODOOODS,/S=02200000000000000000

*1000000300350x10°N/mM 00000000000000000D00000000000
2000000 30036km/sOOO0000O00O0OOODADODOOOODOOODODOOODOOOODOOOOOOOOODOO

gooooooooooboooon

00 2200000000000000000000000 ADDODODOOODDOOOODOOO0OO0DO0OO00000
S,/§=0.331000000000000000000000 8,/S=018800000000000000000000
000000000000 000000000000000000 ADDOOOO S,/S=022000000000000
000000000000000D0 ADDOOODODOO0O0O00000000000000000000000000
000000000000000000000ADOODOO S,/S=0220000000000000000000

0000000000000 00D0000000000 45kmO000 25kmO00000000 M7.58900 0 M7.1630
00000 (1990)00000 My =397x 10 NmODODO 1.26 x 10 NmOOOoOoOoooQ

BOOODOOO 300 259km/s00000000O0O0O0OOOOO0OOOOOOOOOOOOODOOOOUOOOO

33



